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1.

Part - I (Compulsory To All) (Q. No. 1 - 50)
I (@l & forg aifoard) (797 €. 1-50) |

Wthh oné of the following properties of an
element is not variable :
(A) Valency (B) Atomic weight
(C) Equivalent weight (D) All of these

When an electron revolves in a statlonary
orbit then :

(A) It absorbs energy

(B) It gains kinetic energy

(C) It emits radiation

(D) Its energy remains constant

Highest covalent character is found in :
(A) CaF, (B) CaCl,
(C) CaBr, (D) Cal,

Strongest bond is :

(A) C—C

B) C=cC

© C=cC

(D) All are equally strong

What is the normality of a 1 M solutlon of
H,PO, ?

(A) 0. 5 N
(C) 20N

(B) 1.0N
(D) 3.0N

Quartz is a crystalline variety of :
(A). Silica (B) Sodium silicate
(C) Silicon carbide (D) Silicon

If P=Q then which of the following is not
correct :

A) =4
©) PQ=qQp

Kilowatt-hour is a unit of :
(A) Electrical charge (B) Energy
(C) Power (D) Force

l‘

SET-A
mmﬁwmgﬁqﬁaﬁqﬁm%:
(A) IR (B) g 9
©) gt o (D) T &

‘aaéﬁazﬁwﬁmanﬁw%,ﬁ:

(A) T Sl T T HTT &

(B) 3G Tt ol qedl &
(C) g faftheor Scafsf wem &
(D) ITH For e &l &

r& .f_fﬂu_ré?ﬂ_%.
(A) CaF, (B) CaCl,
(C) CaBr,- (D) Cal,
A T R

- (A) C—C
(B)C=C
() C=cC

(D) 941 999 ®9 ¥ yad &

HPO, & 1 M ﬁﬂwaﬂqmww

?

(A) 05N (B) 1.0N

(C) 20N (D) 3.0N

I foheeia w9 &

(A) Rifeeer &t (B) qifsay Riferde @

(C) ffeeri Fmafss (D) fufvet &

afe F=Q 9 = & ¥ B a1 R s
t.

(A) p=Q B) [P|=]Q

(©€) PQ=qQP D) P+Q=P+Q

WFWW%:

(A) foga smasT & (B) Tl &b

(C) grfe & (D) T@ T
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10.

11.

12.

13.

14.

15.

What is the SI unit of permeability :
(A) Henery per meter

(B) Tesla meter per ampere

(C) Weber per ampere meter

(D) All of the about unit are correct

A body is moving with uniform acceleration
describes 40 m in the first 5 sec and 65 m in
next 5 sec. Its initial velocity will be :

(A) 4 m/s (B) 2.5m/s

(©) 5.5m/s (D) 11 m/s

Circular motion, the velocity vector and
acceleration vector are :

(A) Perpendicular to each other

(B) Same direction '

(C) Opposite direction

(D) Not related to each other

An example of fluorite structure is :

(A) NaF (B) StF,

(©) AlCl, (D) SiF,

What is the ratio of diffusion rate of oxygen
and hydrogen ? |

(A)1:4 B) 4:1

©)1:8 (D) 8:1

Ionisation depends upon :
(A) Pressure (B) Volume
(C) Dilution (D) None of these

Which of the following is not used as a Lewis
Acid :

(A) SnCl, (B) FeCl,

(C) KCI (D) BF,

Internal energy of an ideal gas depends on :
(A) Volume (B) Temperature
(C) Pressure (D) None of these

Maximum entropy will be in which of the

~ following :
(A) Ice (B) Liquid water
(C) Snow . (D) Water vapours

18.

| (A) Zero

The tension in the spring is :

sn < GO00000 s
(B) 25N

(C) 5N (D) 10N

10.

11.

12.

13.

14.

15.

16.

17.

18.
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fierar &7 SI | & T & ¢

TrIFY
(A) &8 ufa diex

(B) gar #iex ufa uftaa

(C) & gy uftgae Hiex

(D) SR qf AT qE B

Teh & U GO @ & 9o 5 Hebst F 40
Y. @41 o 5 s A 65 . Wl 81 A
T YRR 9T BRI -

(A) 4 m/s (B) 2.5m/s

(C) 5.5 m/s (D) 11 m/s

U qEE gO T A, 9T afR aur /e
gy e € ¢

(A) T T & T

(B) u® & fegr 4

(C) fawdia fegm &

(D) T @ & wfaa & ed &

FIRTEE T T JETETT ¢

(A) NaF (B) StF,

(C) AlC, (D) SiF,

STeRIITT T SIS & FeRoT &X o1 1Tl
FE ? :

(A) 1:4 (B) 4:1

(C)1:8 D) 8:1

(A) TE | (B) IdT W

(C) agar W (D) 34 q FIs &
e & & fobrehr STt EH ort I ovE T
QT -

(A) SnCl, (B) FeCl,

(C) KCl (D) BF,

(A) ST W (B) dmHE W |
(C) @™ (D) ¥ & &rE &
forer & 3§ formant Tt srfreer &
(A) T (B) o 24 &Y §
(C) fem (D) Searsy
WT'“TW%

(A) 3 (B) 2.5N

(C) 5N (D) 10N
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19. If the kinetic energy of a particle is doubled,

_ then its momentum will :
(A) Remain unchanged (B) Be doubled
(C) Be quadrupled

20. The moment of momentum is called :
(A) Couple (B) Torque
(C) Impulse (D) Angular momentum

21. The force of gravitation is :
(A) Repulsive (B) Electrostatic
(C) Conservative (D) Non-conservative

22. The time period of a communication satellite is :
(A) 6 hours (B) 12 hours
(C) 18 hours (D) 24 hours

23. The breaking stress of a wire depends upon :
(A) Length of the wire
(B) Radius of the wire
(C) Material of the wire
(D) Shape of the cross-section

- 24. The rate at which a substance reacts depends
onits :
(A) Atomic weight  (B) Equivalent weight
(C) Molecular weight (D) Active mass

25. Brine solution on electrolysis will not give :

(A) NaOH (B) Cl,
(C)H, (D) O,
26. Which of the following has largest size :
(A) Al (B) Al
(C) Al (D) AlP
27. Which element has maximum electron affinity :
(A) Na (B) S
(C) Mg (D) Al
28. Flux is used to remove :
(A) Silica

(B) Metal oxide
(C) All impurities from ore
(D) Silica and undesirable metal oxide

29. Which is poorest reducing agent :
(A) Nascent hydrogen
(B) Atomic hydrogen
(C) Dihydrogen

(D) Increase (/2 times

19.

20.
21.
22,

23.

24,

25.
26.
27.

28.

29.

(D) All have same reducing strength
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(A) THgH (B) T ST

(C) ST (D) o Fr

TEEETT 6§ - _

(A) s @ (B) R IHA I

(C) weft e (D) T =

EHAR STAE T URFAT HA &

(A) 6 T2 (B) 12 7%

(C) 18 To2 (D) 24 ¥%2

Rl R & forT See wfae TR T €

(A) AR & T=E W

(B) @R @t fBar ©

(C) AR & gard W

(D) AR & YT FHIE I MMfd T

ue qere o 2 § fear e &, R a §

% :

(A) T YR W (B) dedichl R W

(C) T 9 W (D) afshg Zegm™ W

a3 feera, faga sreeT W E &

" (A) NaOH (B) Cl,

(©) H, (D) O,

= 4 9 e SR Ted 937 © ¢

(A) Al (B) Al

(C) Al (D) AI®

e aeT 1 gaaR JYAT qed o ¥

(A) Na (B) S

(C) Mg (D) Al

e FT FANT P58 & & drar & -

(A) Faferar &r

(B)U@Wl?éﬁgaﬁ

(C) sTEht & wfr gt =y

(D) fafereer wa srafer emg srrerares @

P 999 3 A L

(A) &SI EEEI

(B) T Elggiom

(C) f& ez

(D) & BT RIS s w3
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30.

31.

32.

33.

34.
35.
36.
37.

38.

39.

(A) Fe

A liquid rises in a capillary tube if the angle

of contact is :
(A) Acute (B) Obtuse
(C) n/2 D) =

The absolute zero temperature in Fahrenheit
scale is :

(A) —273°F
(C) —460°F .
Energy associated with a moving charge is
due to : R '

(A) Electric field

(B) Magnetic field

(C) Both electric field and magnetic field
(D) None of these

The capacitance of a parallel plate condensor
does not depend on :

(A) Area of the plates

(B) Medium between the plates

(C) Distance between the plates

(D) Metal of the plates

(B) —32°F
(D) —132°F

Metal have :
(A) Zero resistivity (B) High resistivity
(C) Low resistivity (D) Infinite resistivity

Conductivity increases in the order of :
(A) Al, Ag, Cu (B) Al, Cu, Ag
(C) Cu,ALAg (D) Ag,Cu,Al

Which is an ore of potassium :
(A) Carnelite (B) Cryolite
(C) Bauxite (D) Dolomite

Alumina is :

(A) Acidic

(C) Ampboteric
Hypo is used in photography because of its :
(A) Reducing behaviour ’
(B) Oxidising behaviour

(C) Complex forming behaviour

(D) Reaction with light

Which does not form amalgam :

(B) Co

(D) Zn

(B) Basic
(D) None of these

(€) Ag

30.

31.

32.

33.

34.

3s.
36.
k 73

38.

39.
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aﬁ%m%&mﬁﬁwm% gfe wagf

| BN
(A) = BT & (B) A&k it &
(D) n

(C) n/2 -
HRABIEE Thel I¢ A 1T &1 419 & -
(A) —273°F | (B) —32°F

(C) —460°F (D) —132°F
TR Sy ¥ TS SOl BRI 8

(A) fga &=

(B) g &
(C)iﬁgaamg@aﬁﬂaﬂaﬁf

(D) 379 q HE TEl

FHIAY wie Fenis @7 aniar &1 97 6| W
anfaa & % ¢

(A) WE B &ABT W

(B) wiet & d & HAreAq W

-(C)w‘iﬁ%aﬁaa&g&w

(D) w2l @l o1g W

argat # Bl 8 -

(A) T fadrerehr
(C) & gfaRreesdr
AT BT &l 5 © :

(A) ALLAg,Cu  (B) Al Cu,Ag
(C) Cu, Al, Ag (D) Ag, Cu, Al

qrRRIET &1 A & |

(A) FHAEE (B) IS

(C) SfFarEe (D) EreiTEe
T &

(A) =i (B) &1

. (C) Swaerit (D) 7 & g T

12T T TANT BIEITH | BT ©, 30
(A) AIATTEH TAIER & HROT .
(B) ATFIIHRE FITER & BRI

(C) S I & deR & HRUT

(D) YehIST & BT R & IR0

fper #f q P9 AR & ST ©
(A) Fe (B) Co
(C) Ag (D) Zn
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40. Purest form of iron js :
(A) Cast iron (B) Wrought iron
(C) Hot steel (D) Stainless stee]

41. IUPAC name of CH;—CH=CH—C=CH is :
(A) Pent-2-en-4-yne (B) Pent-3-en-1 -yne
(C) Pent-3-yne-1-en (D). Pent-2-yne-1-en

42. Kirchoff’s second law is based on the law of
conservation of :
(A) Charge
(B) Energy
(©) Mome;ntum
(D) Sum of mass and energy

43. The resistance of an ideal voltmeter is :
(A) Zero (B) Verylow
(C) Very large (D) Infinite

44. What is immateria] for an electrical fuse wire :
(A) Its specific resistance '
(B) Its radius
(C) Its length

(D) Current flowing through it

45.  Ampere’s circuita] law is equivalent to :
(A) Biot-Savart law (B) Coulomb’s Jaw
(C) Faraday’s law (D) Kirchoff’s law

46. When a charged particle enters a uniform

magnetic field, its kinetic energy :
(A) Remains constant (B) Increases
(C) Decreases (D) Becomes zero

47. Ifa current is passed in a spring, it :
(A) Gets compressed
(B) Gets expanded
(O) Oscillates
(D) Remains unchanged

48. Number of bonds in benzene 8 |
(A) 6cand3 n (B) 12cand3 &
(O 3cand12 7 (D) 6 and 6

49. Magnetic dipole moment s 3 : ,
(A) Scalar quantity (B) Vector quantity
(C) Constant quantity (D) None of these

S0. Speed of light is maximum in -
(A) Water (B) Air
(C) Glass (D) Diamond

- 40.
41.

42.

43.

44,

4S.

46.

47.

48.

49.

50.

SEr,,
JEETE: %
W ® R
(C) g (D) s

—-CH=CH—C=CH %l IUPAC Tm}
(C:)3 92-2-37-4-319 (B) ??—3-37(-( 1-%
(C) 9=2-3-3mg4-1-57 (D) W'z’m-l—gq
W amenfia &

(A) rast
(B)g",;
(@)
((D)mfai‘ﬂrm‘ﬂ:fE“"”ﬂ’T
st dreefier a1 afe 2 ¥
(A) g (B) s
(C) T&a atfers (D) &<

LT TR % forg am Sred &
E‘?)Hmﬁrfwzgﬁﬁa
(B) 38T ey
(C) suaht wward
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q&qurwf%qeﬁzrﬁmgwg
(A) TN Frmr(B) ammey ey
(C) B fray (D) fheetes fovarmy
m&w@%%ammm%:
(A) P et & (B) Teft &
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aﬁ%@v@%mma&mﬁ%:
(A) Hgfra & &
(B) &t &
(C) 3T Ty ey &
(D) smRafdfea ey &
.ﬁﬁﬁ?ﬁmﬁﬁm%:
(A)60'QH:31I B) 126 w7 3 ¢
©) 30w 121 (D) 66 ug 61
gwa%q%garamm%
(A) srfesr Tfyr (B) afesr wfyr
(C) e afyr (D)saﬁﬁaﬁg'qﬁ
mra%mﬁwﬁéﬁmmmﬁam%r
(A) o (B) ag
(C) &g (D) &
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51.

52.

53.

54.

55,

56.

57.

(A) Equilateral

(A7

- (©) 50

SET-A

Part - II (Mathematics) (Q. No. 51 - 100)
i - 11 () (997 4. 51 - 100)

If the ‘ﬁrst, second and last terms of an A.P.
be, a, b, 2a respectively, then the sum will be :

» ab 3ab
(A.) b-a (B) 2(b—a)
ab
(©) b-a (D) None ofthe above

If x, y, z are in Geometric progression (G.P.)
and a* =b¥ =¢?, then :

(A) log,a=1log b
© logc b= loga c

Which riumber should be added to the
numbers 13, 15, 19 so that the resulting
numbers be the consecutive terms of a H.P. :
B) 6
© -7 (D) -6

The sum of i —2 - 3i + 4 + ... 100 terms,

wherei= /7 is:
(A) 50(1 + i)

(B) log, c=log, a
(D) None of these

(B) 70(1 —-1)
(D) None of these

Sum of squares of first n natural numbers
exceeds their sum by 330, thenn = ?

(A) 8 (B) 10

©) 15 (D) 20

In a regular hexagon ABCDEF, AE = ?
(A) AC+AF+AB (B) AC+AF-AB
(C) AC+AB-AF (D) None of these

“The .trianglc formed by the points (0, 7, 10),

(—‘1’ 6, 6), (_4, 9, 6) iS :
(B) Isosceles

(C) Right angled isosceles (D) None of these

58.

-3 _y-2_z-1
31 0 %
(A) Parallel to x-axis

(B) Parallel to y-axis

(C) Parallel to z-axis

(D) Perpendicular to z-axis

The straight line -

S1.

52.

S3.

.

Ss.

56.

37.

38.

o g AW H 99 U€, EU T iR
AT g A a, b, 2a T AT 40T BT

ab 3ab
R ® 2-2)
(C) ba_ba (D) SuieRd | g TE

AR x, y, z TOIRR A F & 7 at = b = ot
Eﬁ’

(A.) log,a=log.b (B) log,c=log, a
(C) log.b=log,c (D) ¥ & &5 &

13, 15,19 ¥ @ 9E, fo6 @ 9 9 ue
&TH®S A & HAN U< & ¢ .
(A) 7 (B) 6

©) -7 (D) -6

i—2-3i+4+...100 9 dh & ATHFAT & :

(G i= 1)

(A) 50(1 + i) (B) 70(1 —i)

(€) 50 (D) T34 | &g &
IS YO n Wk QAT & it bl AT b
I g 330 AfE T, A n=.... .

(A) 8 (B) 10
- (©) 15 (D) 20

frdt ewwest ABCDEF ¥, AE =2

(A) AC+AF+AB (B) AC+AF-AB

(C) AC+AB-AF (D) ¥ & ®ig T
3t (0,7, 10), (-1, 6, 6), (4, 9, 6) & &1

(A) GHaTg (B) qufgarg |

(C) §9hIoT FfgaTg (D) St | Hig &l

Xx-3 y-2 z-1,
I @r 3 1 = 0 g
(A) x-3& & AR
(B) y-318T & THR
(C) z-31&1 & gH=X
(D) z-31& &% T=ad
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59.

60.

61.

62.

63.

64.

66.

The equation [x| = p, |y| = p, lz| = p in xyz
space represent :
(A) Rhombus

(C) Point (p, p, p)

(B) Sphere ofradius p
(D) Cube

The roots of the equation
(p-@x?+(q—nx+(r—p)=0,are:
P—¢q ' q-r
A 1 B 1
(A) 2 D (B) P—q
r-p
(©) — )1 (D) None of these

Assuming the balls to be identical except for
difference in colour, the number of ways in
which one or more balls can be selected from
10 white, 9 black and 7 red balls is :

(A) 881 (B) 891

(C) 879 (D) 892

10
x 3

In the expansions of (3——7) . the
x2

coefficient of x* is :
(A) 405/256
(C) 450/263

(B) 504/259
(D) None of these

‘la a x
The roots of the equation (m m m| =0,
b x b
are :
(A)x=a,b (B) x=-a,b
(C) x=-a,-b (D) x=a,-b
sin (60° — 0) . sin 6 . sin (60° +6) = ?
(A) sin 30 "~ (B) sin 60°
(C) sin6 (D) 1/4 sin 36
. tan(60° - 0) . tan O . tan (60° +0) =?
(A) tan 0 (B) cot©
(C) tan 36 (D) cosec 6
| OV 4o
Vx

(A) 2cosvx +¢
(C) sinvx +¢

(B) 2sinvx +c
(D) None of these

59.

60.

61.

62.

63.

64.

65.

66.

SET.A
xyz-STEBIST T x| = P Y= P12 p

yefdfa @ § ¢ .
(A) TEETHS (B) p FHoar T e
©) &g (p.p-p) (D) T

THIHT (p—q)x2+(q—r)x+(r—p)=0§h~
qEE

_ q-r
(A) }3_2.1 (B) p_qql
¥ sh 1 913 Y O @ AT A g

10 §&g, 9 FieT gar 7 @@ Al F F UF
o st e fRAY YR @ gAT o Aehl
T

(A) 881
(C) 879

(B) 891
(D) 892

10 ’
(i__’) # faeqe & x' @& TUTH
g:
(A) 405/256
(C) 4507263

(B) 504/259

(D) 378 & FIF TEl
a a X

TETT M m m| =0, % qd & :
b x b

(A) x=a,b
(C)x=-a,-b

(B) x=-a,b
(D) x=a, -b

sin (60° - 0) . sin O . sin (60° + 0)="2?

(A) sin 36 (B) sin 60°
(C) sin6 (D) 1/4 sin 30
tan(60° —6) . tan O . tan (60°+0)="2
(A) tan 0 (B) cot o
(C) tan 36 " (D) cosec 0
I @_ﬁdx =9

Vx

(A) 2cosilT 4 c
(C) sinVx +c

(B) 2sinx +¢
(D) 37 7 %% =&
| JEEPP]
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75. Iflog,2 +log44+log;1 x +log, 16 =6, then

X=7?
(A) 64 (B) 8
(©) 32 (D) None of these

76. Ifx =log, a, y = log. b, z=log, ¢, then the

77.

value of xyz = ?

(A) 0 (B) 3
©) 5 (D) 1
4
1+2-3

(B) 1+/2+4/3
(D) None of these

(A) 2+2 +6
©) 3+/2+3

78. The cube rootof 9/3 +11/2 =7

79.

80.

81.

82.

83.

(A) 23+2 B) Z++2
© V3+22 D) 3342
QXxel B C
. I x> +2x +1 x+1 (x+1)2 , then
(A) 4C (B) 2C
(€) 3C (D) None of these
3x+4 A B C
+

If(x+1)2(x—l)=(x—l)+(x+1) (x+1)*’
thenA=7?

(A) 7/4 (B) -1/2
(C) 15/4 (D) None of these
The Standard Deviation of five calculation
1,2,3,4,51is:

(A) 2/5 (B) 3/5

© V2 D) V3

The varience of data 2, 4, 6, 8, 10 1s :

(A) 6 (B) 8

<) 7 (D) None of these

The measures of dispersion is :
(A) Mean deviation (B) Standard deviation
(C) Quartile deviation (D) All of the above

.10

SET-A

75. aft log,2 +log, 4 +log, x + log, 16 = 6, a1
x=?7
(A) 64 (B) 8
(C) 32 (D) 38 & #rE &
76. afe x = log, a, y = log b, z = log, c, @
xyz=€5TqT?%:
(A) 0 (B) 3
(€) 5 (D) 1
4,
77 1+2-3 °
(A) 2442+6 (B 1442443
(©) 3+v2+3 (D) =99 | &3 T
78. 93 + 11/ & oW €
(A) 243 +2 B) 3+2
©) V3+242 =~ (D) 3\3+2
x2+x+1 Al B, C
7. AR T x+1 (x+n
A-B=?
(A) 4C (B) 2C
(C) 3C (D) 1% & HI5 &
x+4 _ A B C
80. LN x-1) (=D (D) (x+D>’
TA=? |
(A) 7/4 (B) -12
(C) 15/4 (D) s & ig T
81. ufg oM 1, 2, 3,4, 5 H AEE fOdad
g
(A) 2/5 (B) 3/5
©) 2 (D) 3
82. el 2,4, 6,8, 10 & YEIT &
(A) 6 (B) 8
€7 (D) 7 § FI5 Tl
83. frdiger &y 7q ¥ :
(A) 5req ferae (B) A faaa

(C) =gef® fame (D) Swder &+l
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67.

68.

69.

70.

71.

72.

73,

74.

Stanx

If the integral _[ dx=x+aln|sinx

tanx —2
—2cosx|+k,thenaisequal to :

(A) 2 (B) -2
(C) -1 (D) 1

J- dx —9
et +eX
(A) tan! ()
(©) log (e¥—e™)

(B) tan™! (eY)
(D) None of these

el
The value of L ;dx =9

(A) (B) 0
©) 1 (D) log (1 +e)
- % \ Jeotx | dx = 2
0 Jeotx ++/tanx
oF ®) 3
i s T
©) 3 D 5

The solution of differential equation
dy

‘ 2.
X—+y=y is:

dx
(A) y=1+cxy
(C©) y+1=cxy

(B) y = log (xy)
(D) None of these

dy 1

__+— _ .
If 4« Ji_x2 ~Othen:
(A) x+sinly=0 (B) y+sinlx=6
(C) x2+2sin"' y=0 (D) None of these

If A and B be any two sets, then (A N B)' is
equal to :
(A) A'N B’
©C)ANnB

(B) A'uB
(D) None of these

Let A and B be two sets than

(AUB) U(A'nB)isequal to:

(A) A’ B) A

() B (D) None of these

67.

68.

69.

70.

71.

72.

73.

74.

SET-A

afe guTRad Jt:ntinjz dx =x+aln|sinx
—2cosx|+kdd a="?

(A) 2 (B) -2

(C) -1 (D) 1

J' dx _9

et+e™ o

(A) tan™' (e7™) (B) tan” (e¥) o
(C) log (ex—¢™) (D) ES Ll ﬁ FE Tl

:%ax*—‘? Eﬁ[‘q‘[‘:{m : |

(A) B0

€)1 (D) log (1 +e¢)

,ﬁ Jeotx e

0 Jcotx ++/tanx
(A) m | (B) g

r T

(C)E D) 7
STEHTAT FHIHT
ngﬂ’ = 5'2 B ©

dx : )
(A) y=1+cxy B) y = log (ky)
(C) y+1=cxy (D) T F B 75

dy 1

— 4 -_
afs dx f_< =0ar
(A) x +sin"ly =0 (B) y+sinlx=¢
(C)x2+2s_in"y=0 (D) ¥ ¥ g &
;ﬁAaﬁ{BﬁW‘. B T (AN BY T
(A) A'n B

(B) A'UB
(C)AnB

(D) 9% ¥ ¢ 75
T A IR B @ weaa ¥ qq
AUB)UA'NB) Tt & -

(A) A’ (B) A _
(C) B' D) &9 & ¢ 73 .
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84. Let(3,4,-1)and (-1, 2, 3) are the end points
of a diameter of sphere. Then the radius of
the sphere 1s equal to :
A) 1
©)3

85. Iff(x +ay, x —ay) = axy, then f(x, y) = 2

(B) 2
(D) 9

x—y

(A) (B) xy

(O x*-aly?

D) =

lim  xcosx —sinx i
86. — s . =
x—>0 xZsinx

(A) 173
©O1

1
® -3
(D) None of these

T d
t=— thevalueof—y=?

4 dx
B) 2

(A) 2
©) 12 (D) -1/2

cotx tanx
88. —
f sec? x — 1

(A) cotx — x+.c
(C) cotx+x+¢

x> +x 6 .

®. | ™

(A) x+4log(x-1)+c (B) x+2log(x—1)+c
(C) 2x+2log(x~1)+c (D) None of these

dx=2?

(B) —cotx +x +¢
(D) —cotx—x+c¢

90. Ifcos pb =cos g0, p # q, then :

87. Ifx = sint cos 2t and y=costsin2t, thenat

: 0= 2nm
(A) 0=2nr ®) 0=-"
nrw ’ B
(C) 9=— (D) None of these
- P—q . '
91. Periods of cot 3x — cos (4x + 3) is :
n E i
A 3 B) 3
(OF.: (D) 2n

11

SET-A

84. Tfx (34—1)HﬂT(—123)Tﬂ‘TTﬂT¥T
& R T a9 M ) o & -
A) 1 B) 2
)3 D) 9
85. af f(x +ay, x—ay) =axy, 9 f(x, y) =9
X2 _ y2 "
(A) (B) xy
4
_ K2y
(C) x? — a%y? (D) =
lim xcosx—sinx 0
86. — 3. =
Xx—=0 X~ sinx
1
(A) 173 (B) )
©) 1 (D) & & = &
87. afe x= sint cos 2t 3R y = COStSlHZt?ﬁTt‘ .
T .dy
Do
4 " dx
(A) -2 (B) 2
O 12 (D) -1/2
cotxtanx
88. ————dx =2
'[ sec? x —1

(A) cotx—x+¢
(C)cotx+x+c¢

(B) —cotx+x+¢
(D) —cotx—x+¢

J- x> +x—-6
x>

(A) X+4log(x-1)+c (B) x+2log(x—1)+¢
(C) 2x+2log(x-1)+c (D) IR ¥ FE 78

90. Hﬁcosp9=cosq9,p¢qﬂ‘f‘

0= 2nnw
(A) 6=2nn ®) O=—7
nmw . .
(QL;; (D) ¥ ¥ ¢ 7

L. cot 3x - cos (4x + 3) & AT P & -

&
(A) 3
O n

T
(B) 1

D) 2
®) n'[JEEPP]
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92. In AABC, if £C =90°, ZA = 30°, C = 20,
then the value of a and b are :

(A) 10,10./3 (B) 10, 10

©) 5,5 (D) None of these
cosA cosB cosC
93. In AABC, + b + - =?
(A) abc (B) a2+ b2+ ¢2
© al+b*+c? (D) a’ +b% +¢?
abc 2abc

94. Focus and directix of parabola x> =—8ay are :
(A) (0,—2a)andy =2a (B) (0,2a)and y =-2a
(C) (2a,0)and x=-2a (D) (-2a, 0) and x = 2a

95. The equation 8x2+ 12y> —4x +4y - 1=0
represent :
(A) Circle
(C) Parabola

(B) Ellipse
(D) Hyperbola

96. If(1-i)"=2"thenn=7?

(A) 1 (B) -1

o (D) None of these
97. The value of i" + ™! +i"™3 (n € N) is :

(A) 0 (B) 1

(©) 2 (D) None of these

98. The principle amplitude of (sin 40° +icos 40°)°
is :

(A) 70° (B) 110°
(C) -70° (D) -110°
99. J-8-6i="
(A) 1£3i (B) £(1+31)
(D) None of these

(C) £ (1 -3i)

4(cos75°+1sin 75°) e
0.4(cos 30° +1sin30°) o

100. The value of

5

(A) Tg—(ni) —l—(l(l—i)

V2

(D) None of these

(B)

/'.;
(C) lx—(;"(l_i)

' SET-A
92, afr AABC i, £C=90° £A=30%C=20
a’raaarb%qﬂmr%':

(A) 10,1043 (B) 10, 10
(C) 5,5 (D) 379 | B T
_ cosA cosB cosC=9
93. AABC ¥ —_ pp
(A) abc (B) a?+b?+c?
2 2
24 b +c” a’l+b*+c
o X2 D) —5;
abc abc

04, AT x2=—8ay 1 A T FYAT ¥ ;
(A) (0,—2a) @ y=2a (B) (0,2a) T y=-2a
(C) (2a,0) 7 x=-2a (D) (-2a, 0) TN x =2a

95. Ty 8x2 + 12y2 — 4x + 4y — 1 =0 Fofud

TS ,

(A) TF I (B) T &9 I

(C) T qUaTd (D) T& JAfraRawa
96. afz (1—i)"=2"2, a n I & :

(A) 1 (B) -1

<o (D) 39 ¥ ®IE Tl
97. i"+i™!' +i" (ne N) & AF & :

(A) 0 (B) 1

(€)2 (D) 34 q @IE &
98. (sin40° +icos 40°)° T qE&A FIUNF © :

(A) 70° (B) 110°

(C) -70° (D) -110°
99. J-8-6i=2

(A) 1 £3i (B) +(1 +3i)

(C) £(1-3i) (D) =15 ¥ Fig &
100, 4(cos 75° +isin 75°)

0.4(cos30° +isin30°) P A B
\/5 . 10
W 5+ ®) -

V2 .o
© /D O w7 2
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I
o SET-A
Part - II (Biology) (Q. No. 51 - 100)
| - 11 (Sha fastm) (9991 €. 51.- 100)
51. Leechis: S1. @t Bl ® ¢
(A) Carnivorous (B) Sanguivorous (A) #iarEry (B) &R qus
(C) Ectoparasite (D) Both (B) & (C) (GEIBEESIE (D) aMT (B) e (C)
52. In earthworms fertilization occurs in : 52. ahgait # fosee B @
(A) Coccon (B) Oviduct (A) ?ﬁfﬂf‘r i 1 (B) 3fzaier o
(C) Clitellum (D) None of these (C) Farzea™ & (D) ST ® g &
53. Earthworms possesses hearts : 53, %gi Femem ¥
(A) 6 pairs (B) 4 pairs (A) 6 A (B) 4 gt
(C) 2 pairs (D) 1 ‘ (C) 2 St D) 1
54. Palacomon (Prawn) isa: 54. et (9t ST & ¢
(A) Insects (B) Crustacean (A) TRF (B) fopefaram
(C) Fish - (D) Noqe of these (C) "=l (D) SUUET ¥ BIE TE
55. Arachinda contains : 55. fFET H gt ¥
(A) Wasps (B) Insects (A) qaar (B) I
(C) Spiders (D) Beetals 4 : (C) "ahst (D) drea
56. The devil fish and sea hare are : 56. o fpora @ e & :
(A) Molluscs (B) Coelenterates | (A) AITEH (B) Hiwvgz
(C) Crustaceans (D) None of these (QEIHERE (D) 3° ¥ &g &l
57. Multiple fission occurs in Amoeba under : 57, a1 YT S aren 9g@vsd B §
(A) Favourable conditions (A IgEe RiefaEt & Sidra
(B) Unfavorable conditions (B) faudia uRftafaat & siaia
(C) Both (A) and (B) B (C) a1 (A) Tar (B)
(D) None of these (D) SWiet # &g T
58. A sexual reproductive body is cailed ; 58. 3NCIRIE T HT Hew &
(A) Egg (B) Sperm (A) 30 (B) 19
(C) Ovum (D) Blastos (C) 31vsT (D) ==
59. Paramecium reproduces by : _ 59. Wrfifim ¥ e BT B
(A) A sexual reproduction (A) NS T g
(B) Sexual reproduction. (B) W SEE AR
(C) (A) and (B) (C) & (A) qar (B)
- (D) None of these ' \ (D) 3% q HI% T
60. During binary fission and multiple fission, 60. fEfrTaT qar SgaEved & AR Sk R
the the cell division is : A BT & :
(A) Mitosis (B) Meiosis (A) TR (B) gt
(C) Amitosis (D) None of these © (C) I (D) IWed | FE T2
' 13 [JEEP P |
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61. Binary fission in paramecia is :-
(A) Transverse (B) Longitudinal
-(C) Oblique " (D) None of these

62. Cohartisa grodp correlated with :
(A) Families (B) Genera
(C) Species (D) None of these

63. Food material can be preserved at : ,
(A) High temperature (B) Low temperature
(C) Osmotic pressure (D) All of the above

64. Trypanosoma brucei produces : .
(A) A disease of animal
-(B) Sleeping sickness
(C) Kala-azar
(D) Dysentery

65. Mycobiont and Phycobiont are found in :
(A) BGA (B) Lichens .
(C) Root (D) None of these

66. Algae viruses are known as :
(A) Binal viruses  (B) Mycophages
(C) Phycophages (D) Cyanophages

67. Cells of Ulothrix are : |
(A) Cylindrical (B) Rectangular
(C) Round (D) None of these

68. The function of innermost layer of pollen,
sac, tapetum is : '
(A) Dehiscence
(C) Protective

(B) Mechanical
(D) Nutritive

69. In monocotes, male gametophytes is :
(A) Microspore (B) Megaspore
(C) Tetrad (D) None of these

70. The ovule of an angiosperm is technically
equivalent to :
(A) Megaspore (B) Megasporangium
(C) Megasporophyll (D) None of these

14

61.
62.
63.

64.

65.

66.

67.

68.

69.

70.

SET-A

Wﬁﬁ:ﬁﬂm@m? )

W BT e

(C) Srveder (D) T

FErE (Cohort) TR mﬁﬁ%

(A) Fll e

(A) @7 g W) (B) T AN W

(C) TR T T (D) SUTeRT T W

PG gaTE ST Hl ©

(A) STl 1 T T

(B) femesrt T

(C) FIaT AR

(D) ufusr

TR O EEEEEE R T e §

(A) BGA (B) TmsHE

(C) 713 (D) & ®IE &

AT ARRY B FEd E -

(A) TE9T I (B) HISHIGS araRd

(C) ®EHGT arRg (D) A% IRy

R &7 ifre Bt & |

(A) ITHR (B). SRR

(C) gamR (D) 3wt ¥ HiE 45

WY F &R il w7 2w w1 F

G

(A) ¥gzT (B) =ity

(C) gremeraw (D) drye

@Wﬁmmm%:

(A) HrezpredR (B) iz

(©) & (D) ST 1 7

Wﬁmmmmﬁ >

R w5 fhgs

(A)Wﬂ (B) o o
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71.  Pollination by wind is called :
(A) Geitnogamy

(B) Autogamy
(C) Anemophily

(D) None of these

- 72. Pollination by water is seen in :
(A) Vallisneria (B) Nelumbium
- (C) Eichronia - (D) None of these

73.  Which slows polymorphism -
(A) Physalia (B) Termite
(C) Trypanosoma (D) All of the above

74. Flame cells are excretory organ of
(A) Planaria (B) Flatworms
(C) Taenia (D) All of the above

75. Laurer’s canal is found m :
" (A) Amoeba (B) Paramecium
(C) Fociola (D) Hydra

76. ' Turbellarians are free living :
(A) Nematodes (B) Flatworm
(C) Annelids (D) None of these

77. Annelids are :
(A) Triploblastic
(B) Externally segmented
(C) Radially symmetrical
(D) None of these

78. Seedless grapes are produced due to :
(A) Parthenocarpy (B) Crossing over
-(C) Parthenogenesis (D) None of these

79. Which of following is parthenocarpic fruits :
(A) Orange (B) Papaya
(C) Apple (D) Pomegranate

80. How many types of gametes may be

: DEF
produced by genotype Fl : Py
(A) 27 (B) 8
©) 3 D) 6

15

71

72,

73.

74.

75.

76.

Tl

78.

79.

80.

H@méﬁmwﬁm@rwggéﬁ
(A) ST (B) aitarinfy

(C) u-imifomett (D) SWa § 1 7
T ERT IIEIOT BT &

(A) Aferaafar & (B) Frafeagm i

(C) samif+iar & (D) ST ¥ i =&
BT TgEaT qgifar ¥ :

(A) wrzaiferar (B) {9

(C) FiriregaT (D) S et

(A) w=Rar & (B) wiead &

(©) Afvar & (D) 3w af

AR BT wrelt oy & ¢

(A) 3refiaT # (B) Wfifyram &
(C) »Rarer & (D) &g &
gaamﬁrs%qréeeﬁﬁu‘m%:_ o
(A) fadgm (B) Wiead

(C) Tfergm (D) ST ¥ #rg 7
TS &+

(A) frdremfes

(B) SRR o

(C) 31t gufafe

(D) Suta # #IE &

I SR foheed BROT S o & -
(A) TRt (B) S fommg

(C) TRENHRE (D) swiw & a1 w8
(A) Al (B) qdrar

(C) ¥9 (D) IR

e 10 & P 3
T4 8 ‘

(A) 27 (B) 8
- ©)3 (D) 6
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81. In his classic experiments as pea plants,
Mendal did not use : :
(A) Pod length (B) Seed shape
(C) Flower position (D) Seed color

82. The chemical name of vitamin B is :
(A) Riboflavin (B) Ascorbic acid
(C) Thiamin (D) None of these-

83. What is the unit of crossing over :
(A) Cistron (B) Muton
(C) Recon (D) None of these

84. Which of the following is/are grouped under
phanerogams :
(A) Angiosperms
(C) Pteridophytes

(B) Gymnosperms
(D) Both (A) and (B)

85. Tap roots commonly found is :
(A) Gymnosperms (B) Angiosperms
(C) Dicots (D) Monocots

86. Larva is foundin:
(A) Vertebrates (B) Invertebrates
(C) Both (A) & (B) (D) None of these

87. Poikilotherms are also known as :
(A) Isotherm- (B) Ectotherm
(C) Endotherm (D) Heterotherm

88. Ostia is present in :
(A) Poriferans (B) Annelids
- (C) Coelenterates (D) None of these

89. Glass Rope sponge is :
(A) Spongilla (B) Hyalonema
(C) Scypha (D) None of these

~ 90. Canal system is a characteristic of :
(A) Hydra (B) Sea anemone
(C) Sponge (D) None of these

91. Classification of Phylum Porifera is based on :
(A) Nutrition (B) Locomotion
(C) Reproduction (D) Spiculas

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.
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. ) “SET-A
e & it @ oy o AT AT A
RpgrepT ST e o ‘
(A) et A g (B) AT

(C)gwaﬁ@f?f (D)TEFTW

frafferer Bt @A A E

(A) TR (B)zgﬂiggﬁg

© fafm (D) |

IR Sia T 3P © .

(A) REH B) =

(©) R (D) ST H B T

ﬁﬂﬁ%ﬁﬁﬁﬁ?ﬁ/ﬁﬂ%m%

S ¥ .
afesarerd (B) for=read

© Hawmazs (D) 3 (A) T B)

(A) Rreiremt (B) uf~arer |

(C) et o (D) wsdoTatar §

ral qrar S _

(A) BIEDH H (B) m‘r&r‘{rﬁ _

(C) i (A) dar (B) (D) SWiad | HIE &l

(A) Frgagd (B) warta

(C) wogias (D) feetias

anfegar Jufked e & ¢

(A) drird & (B) wHiferer #

©) devar & (D) Swlad § ¢ T

M, T WA &

(A) TR (B) STl

(C) T (D) U & F1E &

(A) &z A (B) & wiviry #

() & & (D) ST % FrE 74

W TG 1 afforer ey & -

(A) 99T 9y (B) v 1

(3 ZmTae (D) Ffersii w7
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92.

93.

94.

9s.

96.

97.

98.

99,

The dioecious animal is :
(A) Liverfluke

- (B) Aureli
©) TapeWOrm relia

(D) Earthworm

In s.aus.age tree (kigelia africané) the
pollination takes places by :

(&) B‘ifds (B) Bats
(C) Wind (D) Insects

Double fertilization was discovered by :
(A) Karl schnart ~ (B) P. Maheshwari

©) S.G. Nawaschin (D) None of these

Endosperm is consumed by developing
embryo in the seed of : |
(A) Pea (B) Maize

(C) Coconut (D) Castor

Which of the following inspite of being dicot
lacks cotyledons :
(A) Ranunculus
(C) Dianthus

(B) Pistia
(D) Cuscuta

Which one is an example of triploid tissue :
(A) Onion root

(B) Fern prothallus

(C) Maize and lily endosperm

(D) None of these

Thallus of Riccia is :
(A) Haploid
(C) Diploid

(B) Triploid
(D) None of these

Which one of the following is heterosporous :
(A) Adiantum (B) Salvinia
(C) Equisetum (D) None of these

100. Monoecious condition is found in :

(B) Pinus

Cycas
(A) = (D) None of these

© Pteridium

92

93

e _—y ’ SET-A
(A) Fraes (B) srefer
(C) uard (D) &g
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(A) AT & TG
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(D) Suer & I8 e
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(A) Ewitas (B) foifas
(C) fewitas (D) ST & g Tl
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(A) TRT=A (B) @feafyar
(C) s (D) Sl ¥ @ Tl
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(©) 2w & (D) T A BT
[JEEPP]

Visit CollegeDekho

I —T


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

